

$$y = (a-1)n^r + m + r \quad n=r \quad \frac{-b}{1a} = r \quad \frac{-1}{r(a-1)} = r \quad ra - r = -1 \quad ra = r \quad a = \frac{r}{r} = 1$$

$$0 = -\frac{1}{r} n^r + m + r \rightarrow m = \frac{-b \pm \sqrt{\Delta}}{1a} = \frac{-1 \pm \sqrt{1 - 4(-\frac{1}{r})r}}{-\frac{1}{r}} = \frac{-1 \pm r}{-\frac{1}{r}} \rightarrow \frac{1}{-\frac{1}{r}} = -r = m_1$$

$$\frac{-r}{-\frac{1}{r}} = r = m_2$$

$$f(m) = mn^r - an + m \quad \Delta > 0 \rightarrow b^2 - 4ac > 0 \quad ra - r^2 > 0 \quad ra > r^2$$

$$\frac{a}{r} > m > -\frac{a}{r} \leftarrow \frac{ra}{r} > m$$

$$\textcircled{1} \text{ و } \textcircled{2} \rightarrow \boxed{\frac{a}{r} < m < 0}$$

$$S = \frac{r - \sqrt{a}}{r} + \frac{r + \sqrt{a}}{r} = \frac{q}{r} = r$$

$$P = \frac{(r - \sqrt{a})(r + \sqrt{a})}{a} = \frac{q - a}{a} = \frac{r}{a}$$

$$n^r - Sm + P \rightarrow n^r - rm + \frac{r}{a} = y$$

$$\hookrightarrow \boxed{an^r - nm + r = y}$$

$$ra^r - an + m + r = 0$$

$$ra^r + \beta^r = r \rightarrow ra^r + (r - \alpha)^r = r$$

$$\alpha + \beta = r \rightarrow \beta = r - \alpha$$

$$ra^r + r + \alpha^r - a\alpha = r$$

$$\alpha\beta = \frac{m+r}{r} = r \times 1 = r$$

$$ra^r - a\alpha + r = 0$$

$$\alpha^r - r\alpha + 1 = 0 \rightarrow (\alpha - 1)^r = 0$$

$$m + r = q \rightarrow \boxed{m = r}$$

$$\hookrightarrow \boxed{\alpha = 1} \rightarrow \boxed{\beta = r}$$

$$S(r, q)$$

$$y = an^r + bn + r$$

$$\frac{-b}{1a} = r \quad \varepsilon a = -b$$

$$b = -\varepsilon a$$

$$y = an^r - \varepsilon an + a$$

$$(1, q)$$

$$\varepsilon a - \varepsilon a + a = q \quad -\varepsilon a = 2 \quad a = -1$$

$$y = -n^r + \varepsilon m + a$$

$$\rightarrow$$

$$n^r + \varepsilon m - a \rightarrow (n+a)(m-1)$$

$$\omega = \frac{-a}{-1} = -1$$

$$\begin{array}{c} -1 \quad \omega \\ -1 \quad -1 \\ \hline -1 \quad + \quad -1 \\ \hline -2 \end{array}$$

$$\boxed{n \in (-1, a)}$$

$$am^r - um + 4\beta = 0$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = 2$$

-4

$$\alpha + \beta = \frac{v}{\alpha} \quad \beta > 0$$

$$\alpha\beta = \frac{4\beta}{\alpha} \rightarrow \beta \neq 0$$

$$\alpha^r = 4 \rightarrow \alpha = \pm 2$$

$$\alpha = 2 \rightarrow 2 + \beta = \frac{v}{2} \rightarrow \beta = \frac{v}{2} - 2$$

$$\alpha = -2 \rightarrow -2 + \beta = \frac{v}{-2} \rightarrow \beta = \frac{v}{-2} + 2$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$\beta = \frac{v}{-2}$$

$$\beta = \frac{v}{2}$$

$$n^r + ma - rm = 0$$

$$\alpha^r - m\beta = 1$$

$$\alpha^r = rm - m\alpha$$

$$rm - m\alpha - m\alpha = 1 \rightarrow rm - m(\alpha + \beta) = 1 \rightarrow m^r + rm - 1 = 0$$

$$\alpha + \beta = -m = (-2) \text{ جواب}$$

$$\alpha\beta = -rm$$

$$\alpha\beta = -rm$$

$$\Delta > 0 \rightarrow m^r - 4(-rm) > 0$$

$$m^r + 4rm > 0 \quad m(m+4) > 0$$

$$\frac{-1 \pm \sqrt{1+4}}{2} = \frac{-1 \pm \sqrt{5}}{2}$$

$$m = 2$$

$$f(m) = ma^r + ra + \frac{m}{r} + v$$

$$\frac{-\Delta}{\epsilon a} = 1$$

$$ra = -(b^r - \epsilon ac)$$

$$r^r(m) = -(14 - r^r(m) \frac{m+1}{r})$$

$$n^r + ma - rm = 0$$

$$(m+1)(m-r) = 0$$

$$\rightarrow r^r m = -14 + rm^r + rm$$

$$0 = r^r m - rm - 14 \rightarrow m^r - rm - r^r = 0 \rightarrow (m-1)(m+1) = 0$$

$$(m-1)(m+1) = 0$$

$$\epsilon = \frac{1}{r}$$

$$\epsilon = \frac{1}{r}$$

$$\epsilon = \frac{1}{r}$$

$$\epsilon = \frac{1}{r}$$

$$\epsilon = \frac{1}{r}$$

$$y = an^r + bn + c$$

$$n_0 = \frac{-b}{ra} = r \rightarrow \epsilon a = -b$$

$$b = -\epsilon a$$

$$y = -\frac{1}{r} n^r + rm + \epsilon$$

$$y = -\frac{1}{r} n^r + rm + \epsilon$$

$$y = -\frac{1}{r} n^r + rm + \epsilon$$

$$y = -\frac{1}{r} n^r + rm + \epsilon$$

$$y = -\frac{1}{r} n^r + rm + \epsilon$$

$$y = an^r - \epsilon a n + \epsilon$$

$$\epsilon a - 1a + \epsilon = 4$$

$$\epsilon a - 1a + \epsilon = 4$$

$$\epsilon a - 1a + \epsilon = 4$$

$$\epsilon a - 1a + \epsilon = 4$$

$$\epsilon a - 1a + \epsilon = 4$$

$$\epsilon a - 1a + \epsilon = 4$$

$$\epsilon a - 1a + \epsilon = 4$$

$$\frac{1}{r} n^r + rm + \epsilon = 0$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{-r}{\frac{r}{\alpha\beta}} = \frac{-r}{\frac{r}{-1}} = -1$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{-r}{\frac{r}{\alpha\beta}} = \frac{-r}{\frac{r}{-1}} = -1$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{-r}{\frac{r}{\alpha\beta}} = \frac{-r}{\frac{r}{-1}} = -1$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{-r}{\frac{r}{\alpha\beta}} = \frac{-r}{\frac{r}{-1}} = -1$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{-r}{\frac{r}{\alpha\beta}} = \frac{-r}{\frac{r}{-1}} = -1$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{-r}{\frac{r}{\alpha\beta}} = \frac{-r}{\frac{r}{-1}} = -1$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\beta + \alpha}{\alpha\beta} = \frac{-r}{\frac{r}{\alpha\beta}} = \frac{-r}{\frac{r}{-1}} = -1$$

$$n^r - (ra + \epsilon)a + (ra^r + 4a + r) = 0$$

$$m = r \rightarrow r - 1a - 1 + ra^r + 4a + r = 0$$

$$ra^r - ra - 1 = 0$$

$$a^r - ra - r = 0$$

$$a^r - ra - r = 0$$

$$a^r - ra - r = 0$$

$$a^r - ra - r = 0$$

$$a^r - ra - r = 0$$

$$a^r - ra - r = 0$$

$$a = 1 \rightarrow n^r - 1a + r = 0$$

$$(m-1)(m-r) = 0$$

$$(m-1)(m-r) = 0$$

$$(m-1)(m-r) = 0$$

$$(m-1)(m-r) = 0$$

$$(m-1)(m-r) = 0$$

$$(m-1)(m-r) = 0$$

$$(m-1)(m-r) = 0$$

$$a = -\frac{1}{r} \rightarrow n^r - \frac{1}{r} n + \frac{r}{r} = 0$$

$$\frac{1}{r} n^r - \frac{1}{r} n + \frac{r}{r} = 0$$

$$\frac{1}{r} n^r - \frac{1}{r} n + \frac{r}{r} = 0$$

$$\frac{1}{r} n^r - \frac{1}{r} n + \frac{r}{r} = 0$$

$$\frac{1}{r} n^r - \frac{1}{r} n + \frac{r}{r} = 0$$

$$\frac{1}{r} n^r - \frac{1}{r} n + \frac{r}{r} = 0$$

$$\frac{1}{r} n^r - \frac{1}{r} n + \frac{r}{r} = 0$$

$$\frac{1}{r} n^r - \frac{1}{r} n + \frac{r}{r} = 0$$